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OREL 202 EMETY—VE

OFH &A% 14:30 O=i5 ABKELHEKIS
OR&EH®RTEZ 17:07 OXIix:rE
F—L& (B%)| 1Q 2Q 3Q 4Q TOTAL B &
BREZERKXZ(S) 28 21 7 63 3f%0BK
ABEKKZE(K) 0 7 0 7 14 255188
FREG
F—L Q B PLAY PLAYER(S) ¥—K TFP PLAYER(S) G/NG
ii):a) 1 4:56 PASS | #8 ER—#15 B2 K 43 K |#137&FH G
ichs] 2 0:05 RUN | #42 & [E 3 K |#13FH G
icf=] 2 2:09 PASS | #8 ER—#1 H)I| 55 K |#13:&H G
ABX | 2 5:18 PASS | #8 TTH —#24 R R 19 K |#44 FH G
ichs] 2 8:57 RUN | #33 @ 3 25 K |#13:&H G
ii):a) 2 12:00 RUN | #42 &1 £ 57 K |#137&FH G
ii):a) 3 1:14 RUN | #42 &1 £ 34 K |#137&FH G
ichs] 3 2:30 RUN | #33 @ 3 12 K |#13:&H G
ii):a) 3 11:15 RUN | #42 B £ 15 K |#13&FH G
ii):a) 4 1:05 PASS | #16 S8 —#14 R 31 K | #7 %H G
ABX | 4 3:59 PASS | #10 Hh—#8 ;T H 25 K | #44 EH G
F— L % R F R KF ABRKZE
1.97—ART oY B (S5 —/ X —xAI) (14—8—1) (3—11—1)
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gev—r | 275vds |  207Yds
35 BE#—EFIV—F 28—303Yds 14—79Yds
4N E E#%—-EFV—F 47—578Yds 58 —286Yds
5.5 8l B % — iRV —F 6—65Yds 6—35Yds
6.77>7 L B —®% 3—2 2—1
7.74— LRI —)L Bl — R Zh 0—0 1—0
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INTERCEPTION

HF5  |&H [EIE> r—F D
13 TEHEBRE 15
QB SACK

#S |46 [EIE= —FK
v BRI 0

file=leal sl PN
PASS
= | &l A BY | *—FK | TD|INT
8| EREAKER 9 3 131 2| o0
2| RBZE{Z 6 5 78] 0| 0
16| BEHRE 1 1 31 1] o
18| #BFmN 3 2 350 0 1
RUSH
HS |48 |#% | ¥—F | TD
14 B 7 47 1 2 REFRIZ 1 13
42 HECRE 11 161 4 21 e FHAEER 3 1
33 MAHTEL 7 68 2 18 H LA 1 A6
EHE#E 2 10 0
FEEXRER 1 12 0
RECEIVE
ES |48 |#% | ¥—F | TD
15 BEARFHIR 2 52 1
14 BEFRE 3 50 0
1 HNBRE 2 64 1
10 HITEE 1 22 0
16 | &EmRE 2 29 0
89 HTFREX 1 27 0
ABK|KZ
PASS
= | &l A BY | *—FK | TD|INT
10|BFRE 44 20 207 2| 1
8|TTHEN 1 1 19| 1
RUSH INTERCEPTION
= | &l |#% | ¥—F | TD &= |&H0 @ | ¥—F | TD
4 EEAE 6 61 0 47 FEL/NGPIS 1 17
7 FRoKIAE 5 10 0
13 AN E 1 Al 0
15 | HEEL 1 0
10 HPRS 1 0
RECEIVE QB SACK
HS |4n m#% | ¥—FK | TD S| %8 E# | ¥—F
81 HEFEE 4 47 0 2 thAsZ= 1 0
EEAE 4 20 0
JTEFEN 5 63 1
24 AREX 1 19 1
21 VNI YN 2 17 0
7 FRoKMAE 3 18 0
13 AN FE 1 23 0




